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QUESTION 1

As part of solution tuning, you want to add online, application-consistent snapshots to a customer\\'s environment. 

Which tasks must be performed? (Select two.) 

A. Delete the snapshot 

B. Stop the VM 

C. Release file locks 

D. Flush the buffers 

E. Quiesce the file system 

Correct Answer: DE 

 

QUESTION 2

You are designing a solution involving HPE 3PAR storage for a customer. The customer\\'s business is experiencing
significant growth, which requires them to invest in a highly- available storage solution. The customer has already
invested in two separate data centers, but cannot initially afford to purchase two systems. The solution must be capable
of providing complete local hardware redundancy. In the near future, the solution will be expanded to be geographically
independent, and storage systems will be located in both data centers. 

Which HPE 3PAR Storeserv storage system feature could be an essential advantage to this customer\\'s business
case? 

A. All current HPE 3PAIR storage system models can replicate data with each other and provide transparent failover of
access to data between data centers. 

B. Only HPE 3PAR 8000 storage system models can replicate data with each other and provide transparent failover of
access to data, independent of the number of controller nodes per storage systems. 

C. All HPE 3PAR storage system models with an identical number of controller nodes can replicate data with each other
and provide transparent failover of access to data between data centers. 

D. Only current HPE 3PAR 8000 and 2000 storage system models can replicate data with each other and provide
transparent failover of access to data when the number of controller is identical 

Correct Answer: D 

 

QUESTION 3

Your customer has a 10-node StoreVirtual cluster split between 2 sites that are 1 km apart and are connected by a
redundant pair of dark fiber links. The latency is far below 2 ms. Inside the Centralized Management console. 2 sites are
created and the appropriate servers and storage systems are assigned to each site. 

What should you suggest to your customer when following the best practices tor quorum voting algorithm? 
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A. Run the appropriate number of managers on each site. 

B. Enable Peer Persistence on Management Group level. 

C. Deploy an NFS network Share for Quorum Witness feature in LH OS 12.5. 

D. Deploy the Failover Manager (FOM) 

Correct Answer: A 

 

QUESTION 4

You are working on a multi-site, high availability proposal and are recommending that the customer order two HPE
3PAR StoreServ 8000 systems. 

In addition to the two arrays, which additional business value option can you add to the proposal to the CIO? 

A. HPE Rebalance Service to balance workload across sites 

B. HPE 3PAR SW Implementation service and transfer of knowledge 

C. data protection strategy 

D. service and phone home support 

Correct Answer: C 

 

QUESTION 5

Which technology allows HPE to maximize available capacity utilization of SSD drives? 

A. HPE 3PAR Global Sparing 

B. HPE 3PAR Adaptive Sparing 

C. HPE 3PAR Adaptive Optimization 

D. HPE 3PAR Distributed Sparing 

Correct Answer: C 
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